OMB CONTROL NO. 0579-0065 **DATE PREPARED** 8/2/2023

TITLE OF INFORMATION COLLECTION REQUEST (ICR)

Swine Health Protection

Additional line for ICR Title if title is too long.

PART I - ICR INFORMATION, POINT OF CONTA	T I - ICR INFORMATION, POINT OF CONTACT, FEDERAL REGISTER NOTICE INFORMATION			
TYPE OF REQUEST	Renewal	TOTAL RESPONDENTS	15,500	
POINT OF CONTACT (POC)	Nicki Humphrey	TOTAL ANNUAL RESPONSES	965,913	
POC TELEPHONE NO.	(615) 290-6146	% ELECTRONIC	25%	
DATE PREPARED	8/2/2023	RESPONSES PER RESPONDENT	62	
PUBLIC COMMENT DOCKET NO.	APHIS-2023-0012	TOTAL BURDEN HOURS	1,742,601	
FEDERAL REGISTER NOTICE	88 FR 12308	HOURS PER RESPONSE	1.804	
FEDERAL REGISTER DATE	2/27/2023	% SMALL ENTITIES	80%	

PART II - SUMMARY OF ACTIVITIES

ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Application for Licensing of Garbage Treatment Facility	9 CFR 166.10(a)	VS 13-15		E	P1		ı	5	5	0.16	1
Acknoweldgement of Act and Regulations	9 CFR 166.10(b)	none		E	P1		1	5	5	0.25	2
Garbage Treatment Facility Inspections	9 CFR 166.13	VS 13-16		D	P1		ı	1,070	4,280	1.50	6,420
Garbage Treatment Facility Inspections	9 CFR 166.13	VS 13-16		D	S1	х	ı	500	2,000	1.50	3,000
Request for Hearing	9 CFR 166.11(a)	none		E	P1		ı	1	1	1.00	1
Cancelation of License by State Animal Health Official	9 CFR 166.12(a)	none		D	S1		ı	1	1	1.00	1
Cancelation of License by Licensee	9 CFR 166.12(b)	none		D	P1		ı	1	1	1.00	1
Notification by Licensee of Sick or Dead Animals	9 CFR 166.13(b)	none		D	P1		ı	6	6	0.08	1
Swine Health Protection Program Inspection Summary	9 CFR 166.15	VS 13-2		D	S1		ı	50	600	2.00	1,200

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Garbage Treatment Facility Recordkeeping	9 CFR 166.9	none		D	P1		R	1,070	1,070	1.00	1,070
Cooperative Agreement	9 CFR 166.15	none		Е	S1		ı	1	1	1.00	1
Notification by Licensee of Changes to Name, Address, or Mangement	9 CFR 166.13(b)	none		D	P1		ı	1	1	1.00	1
Permit to Move Restricted Animals (Business)	9 CFR 71.19; 9 CFR 85.1; 9 CFR 85.5; 9 CFR 85.6; 9 CFR 85.11	VS 1-27		D	P1		ı	1	1	1.00	1
Permit to Move Restricted Animals (Accredited Veterinarians)	9 CFR 71.19; 9 CFR 85.1; 9 CFR 85.5; 9 CFR 85.6; 9 CFR 85.11	VS 1-27		D	P1		1	1	1	1.00	1
Permit to Move Restricted Animals (State)	9 CFR 71.19; 9 CFR 85.1; 9 CFR 85.5; 9 CFR 85.6; 9 CFR 85.11	VS 1-27			S1		ı	3	162	0.50	81
Owner-Shipper Statement	9 CFR 85.6; 9 CFR 85.7	none			P1		ı	5	75	0.10	8
Certificate of Veterinary Inspection (State)	9 CFR 85.1; I CFR 85.6; 9 CFR 85.7; 9 CFR 85.8	none		D	S1		ı	10	100	0.50	50
Certificate of Veterinary Inspection (Accredited Veterinarians)	9 CFR 85.1; I CFR 85.6; 9 CFR 85.7; 9 CFR 85.8	none		D	P1		ı	8,000	80,000	0.50	40,000
Certificate of Veterinary Inspection (Business)	9 CFR 85.1; I CFR 85.6; 9 CFR 85.7; 9 CFR 85.8	none		D	P1		ı	10	100	0.50	50
Accredited Veterinarian's Statement: Embryo and Semen Shipments	9 CFR 85.10; 9 CFR 85.11	none			P1		ı	1	6,784	0.25	1,696
Swine Production System Health Plan	9 CFR 71.19(g)	none		D	P1		ı	200	200	2.00	400
Swine Production System Health Plan	9 CFR 71.19(g)	none			S1		ı	25	25	1.00	25
Swine Production System Health Plan	9 CFR 71.19(g)	none		D	P1		R	125	125	3.00	375
Interstate Movement Report and Notification	9 CFR 71.19(g)	none		E	P1		ı	175	2,100	0.25	525

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Annual Report of Pseudorabies Control/Eradication Activities	9 CFR 71.19	none			S1		ı	50	50	2.00	100
Annual Report of Pseudorabies Control/Eradication Activities	9 CFR 71.19	none			S1		R	50	50	0.03	2
Appraisal and Indemnity Claim Form	9 CFR 52.3, 9 CFR 52.4	VS 1-23			P1		1	2	2	0.25	1
Appraisal and Indemnity Claim Form	9 CFR 52.3, 9 CFR 52.4	VS 1-23			S1		1	4	4	0.50	2
Herd Management Plan	9 CFR 52.5	none			P1		1	3	6	0.25	2
Herd Management Plan	9 CFR 52.5	none			S1		1	3	6	0.50	3
Proceeds from Animals, Animal Products, and/or Materials Sold for Slaughter	9 CFR 52.5	VS 1-24			P1		1	2	2	0.25	1
Appraisal Request for Affected Premises Using Contract Growers	9 CFR 52.5	VS 1-26			P1		1	2	2	0.50	1
Recordkeeping Required for Buyers/Sellers of Swine Moved Interstate	9 CFR 71.19(e)	none			P1		R	15,000	15,000	0.25	3,750
Identification for Swine Moving Interstate	9 CFR 71.19(d)	none			P1	х	i	15,000	825,000	2.00	1,650,000
Identification for Swine Moving Interstate (State)	9 CFR 71.19(d)	none			S1		ı	50	12,500	2.00	25,000
Identification for Swine Moving Interstate (Accredited Veterinarians)	9 CFR 71.19(d)	none			P1		ı	100	500	2.00	1,000

PART II - SUMMARY OF ACTIVITIES											
ACTIVITY DESCRIPTION	AUTHORITY (U.S.C., CFR, or MANUAL)	FORM NO.	FORMAT	TYPE OF CHANGE	TYPEOF RESPONDENT	FIRST OCCURENCE	TYPE OF RESPONSE	ESTIMATED ANNUAL NUMBER OF RESPONDENTS OR RECORDKEEPERS	ESTIMATED TOTAL ANNUAL RESPONSES	ESTIMATED HOURS PER RESPONSE OR ANNUAL HOURS PER RECORDKEEPER	ESTIMATED TOTAL ANNUAL BURDEN HOURS
Identification for Swine Moving Interstate (Business)	9 CFR 71.19(d)	none			P1		R	15,000	15,000	0.50	7,500
Cancellation or Withdrawal of a Swine Production System Health Plan	9 CFR 71.19(h)	none			P1		1	1	1	1.00	1
Cancellation or Withdrawal of a Swine Production Health System Plan	9 CFR 71.19(h)	none			S1		1	1	1	1.00	1
Appeal of Cancellation of a Swine Production System Health Plan	9 CFR 71.19(h)	none			P1		ı	1	1	10.00	10
Application for Permit to Move Slaughter Swine from Originating Slaughter Facilities to Approved Destination Facilities	9 CFR 71.21(a)	none		E	P1		ı	7	7	2.00	14
Application for Permit to Move Slaughter Swine from Originating Slaughter Faciliities to Approved Destination Facilities	9 CFR 71.21(a)	none		E	S1		1	7	7	6.00	42
Shipment to Slaughter Seal (Accredited Veteranians)	9 CFR 52.2	none			P1		ı	5	5	2.00	10
Shipment to Slaughter Seal	9 CFR 52.2	none			S1		ı	25	125	2.00	250